CMI Country Manufacturing,

Fredericktown, Ohio

ZERO TURN DETHATCHER

COUNTRY ZERO TURN EQUIPMENT

P.O.BOX 104, 333SALEM AVE,, FREDERICKTOWN, OH 43019
PHONE: 740-694-9926 FAX: 740-694-5088

EMAIL: admin@countryzer oturn.com




If your zero turn mower is already equipped with our universal mount bar, you will only use the
parts shown in the pictures below. The foot lift pedal will be used for the dethatcher.

S

Parts breakdown

ITEM | QTY DESCRIPTION ITEM | QTY DESCRIPTION

1 1 MOUNTING PLATE - 16 5/16” x 1” BOLTS
2 1 MAIN SUPPORT - 28 5/16” FLAT WASHER
3 1 FRONT AXLE ASSEMBLY - 16 5/16” NUT
4 1 WHEEL ASSEMBLY - 4 5/16” LOCK WASHER
5 12 DETHATCHER TINES - 3 SPACERS
- 1 QUICK RELEASE PIN - 1 1/8” COTTER PIN

- 8 3/4" FLAT WASHER




Attach 12 tines to the plate as shown. Use 1 - 5/16” x 1” bolt / nut and 2 — 5/16” washers.
(Please note the direction of the tines and position of the plate. These will only bolt together
one way.)

Attach the main support tube to the mounting plate using 4 —5/16” x 1” bolt / washer /
lockwasher / nut. Make sure the tines are facing towards the front of the support tube as
shown.



Insert the axle assembly into the main support with a 3/4” flat washer on each side of the
bearing tube. Place 3 spacers on the upright shaft and use the quick release pin to hold in place.
The spacers and 7 - 3/4” washers will be used to adjust dethatching depth.

Attach the tire using 1 — 3/4" washer and 1/8” cotter pin. Make sure the valve stem is facing
outward as shown above.

Insert the “U” shaped tube into the universal mount bar and hand tighten. Insert the
dethatcher onto the “U” shaped tube as shown and hand tighten.



Adjust the unit so that the main support is level with the ground and tighten the bolts on the
“U” shaped tube. You will also need to adjust the height of the front tire using a combination of
spacers and 3/4" flat washers. Insert the foot pedal assembly and adjust the height as needed.
You will use the foot pedal to lift the dethatcher for transport.

PRODUCT WARRANTY:

Country Zero Turn Equipment will, at its option, replace or repair without charge to the original purchases. Any part or parts
manufactured by it and found, upon examination, to be DEFECTIVE IN MATERIAL AND/OR WORKMANSHIP if received for such
examination within 90 days from the date of original purchase.

Damages resulting from accident, abuse, or neglect are conditions under which warranty cannot be claimed. Nor will warranty
apply to damage resulting from failure to follow the manufacturer’s instructions for operation and maintenance nor from the
improper selections of a particular application.

All transportation charges on, and damage and loss incurred in connection with the transportation of parts submitted for
replacement or repair under this WARRANTY shall be borne by the purchaser.

No other warranties, guarantees or liabilities, either implied or expressed, will be the responsibility of Country Manufacturing,
Inc.



